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1.    (x4)-(+3)=
2.   14 ÷ 2.5 =
3.   17.4x 12.6 = 
4.  2.79 ÷ 62 =
5. Round 13.668 rounded to nearest 
a. Tenth
b. Whole
c. Hundredth
d. Tens
6. What place value is  times the 2 in 2, 394 - 
7.      16 – 5.54 =
8.      7.5 x 62 =
9.  -  
10. How many times greater is the value of the underlined digit 4 in 140,000 than the value of the underlined digit 5 in 2,400?
A. 10 times
B. 100 times
C. 1,000 times 
11.  Twelve people in a relay race will each run an equal distance, totaling 9 miles. How far must each person run?
a. 
b. 
c. 
12. At lunch, the student government sold flowers in order to raise money for a local charity. For every flower sold, the charity will get of a dollar.
If the student government sells all 110 flowers that they purchased, how much money will the local charity get?

